& 19ollA BC, AC A

ol FHS 44D, E 2

1 5FAF. AABC 9] Y] E

7} 60 € d, ADCE ¢

WolE Ttotolet, B&E— D C
Ml 2, oF5 ]

» E:

D> HE: 15

B \
AABC ¢t AEDC 9] §3H|7}2:1 o]|B & Yo]
O] H]=4: 10]th
o 4:1=60: ADCE
.. ADCE =15

o2 1994 BC, AC A

ol FHE A4 D, E 2

I 5kt AABC 9] Ho] E
7F 36 € ©, ADCE ¢

wol=? B = = C

@ 3 @ 6 3)9 @ 12 ® 18

S5 ~
AABC 2t AEDC 9] §3H]|71 2:1 o]E= Ho]
O] Hli= 4 : 1 0]t}

. 4:1=36: ADCE
. ADCE =9

He % AguAe) Zyold urt o 25 ol Fe
AgwAe] 2a7} ooend o o, 2 AgmA ] 3
=

Fafofet, o 3, Shad

Zylo]o] H|7T9: 25 o]E 2
S=Hl= 3:5 olth
wpebA|, Fuj o Hl=

33 .53 =27:125 o|t},
27:125=270: x

x = 1250

FHo] s A A0 50em 2 vhehihs F 213

71 CEENUED

@ 308 @ 3% © Y
@ 458 ® 50&

(A A 2] A7) = 50 x 100000
= 5000000 ( cm)
= 50 (km)

90
|22 X 60 =40 (%
..75><60 0 (%)




